

708 CINNAMON RD, NORTH PALM BEACH, FL, 33408

https://ritterproperties.com

Great LOCATION! Back Addition added. Well maintained home in NPB zoned top Rated Schools. Spacious floor plan 1814 UNDER AIR 4 Bed/2 full Baths. Master Bedroom/Master Bath with egress to patio. Crown molding & trimming. 10 ceiling fans. Living room, Florida Room, Dining area, Remodeled Kitchen new appliances. New Laundry room dryer & new washer. [...]

- 4 Deus
- 2 baths
- Residential
- Single Family Residence
- Active
- 1781 sq ft

Basics



Date added: Added 3 weeks ago

Type: Residential

Bedrooms: 4 beds

Half baths: 0 half baths

Area: 1781 sq ft

SubdivisionName: NORTH PALM BEACH VILLAGE

View: Garden

MLS ID: A11662024

Category: Single Family Residence

Status: Active

Bathrooms: 2 baths

Total rooms: 11

Lot size, sq ft: 9980 sq ft

ListOfficeName: Paradise Real Estate Intl

ListAOR: Miami Association of REALTORS®

Rooms



Room type	Dimensions	Area	Length	Width
ThirdBedroom	13.10x 13.9	182.09	13.1	13.9
LivingRoom	16.9x13.5	228.149999	16.9	13.5
PrimaryBedroom	16.5x12.5	206.25	16.5	12.5
FourthBedroom	12x10	120	12	10
FloridaRoom	18.5x9.12	168.72	18.5	9.12
SecondBedroom	14.5 x 10.	145	14.5	10
Kitchen	15.11x10	151.1	15.11	10
DiningArea	9x 10	90	9	10
PatioBalcony	25 x20	500	25	20
UtilityRoom	15.1x5.10	77.009999	15.1	5.1

Building Details



Cooling features: Ceiling Fan(s), Central Air,

Electric, Zoned

ArchitecturalStyle: Detached, One Story

Building Name: NORTH PALM BEACH VILLAGE

Roof: Shingle

Parking: Driveway, Slab/Strip

Year built: 1960

NewConstructionYN: No

Exterior material: CBS Construction,

Stucco

Heating: Central, Electric

Amenities & Features

Features: First Floor Entry, Florida Room, Utility

Room/Laundry, Workshop

Amenities: Dishwasher, Dryer, Free-Standing Freezer, Gas Range, Gas Water Heater, Ice Maker, Microwave, Refrigerator, Self Cleaning Oven,

Washer

WindowFeatures: Clear Impact Glass, Complete Impact Glass, Complete Panel Shutters/Awnings, Hurricane Shutters, Awning, Blinds, High Impact Windows

Waterfront available: No

AttachedGarageYN: No

PoolPrivateYN: No

Security Features: Curr Owner Wind Mit, Curr Owner Wind Mitig Cert Avail, Smoke Detector

CommunityFeatures: Boating, Pool, Tennis Court(s), Other, Paved Road, Picnic Area, Public Road, Sidewalks, Street Lights, Workshop

ExteriorFeatures: Lighting, Room For Pool

GarageYN: No

CoolingYN: Yes

FireplaceYN: No

